Subject: Re: Padding arrays - vector subscripts not working
Posted by penteado on Sat, 03 Jul 2010 21:01:47 GMT

View Forum Message <> Reply to Message

On Jul 3, 5:52 pm, James <donje...@gmail.com> wrote:

> Paulo, your explanation makes perfect sense. | guess | was hoping
> there was a more elegant way than calculating every single 1d index
> that will be used, but your method looks good. Thank you!

You do not need to calculate every 1D index. Only the first index is
needed. The single assignment

X[start_index]=Y

will assign all the 12 elements of Y to 12 elements of X (from
start_index to start_index+11).
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